et EXO0

4. EdhmPEEEGEREE/NE2EZHREHEIRE--BH: P1 (KRIEE.P1->P1)

PNA21-01-#£/8: P1, #:4X38%: C37, KIBFFSE: 4 [X4:+222,Y15:+115] R~T (B f#E): BEA11 cm EIEHE: 9990

cm2, ¥5: 150.0 cm
¥ A2 R~:100.0 cm * 100.0 cm

#8 TH(E 1A LEE (150+0.00)*18/100 27.00
[_ HE)- 2 5+ 00 $ §84
TE (MR E=0))
#4 SMEf- £ T i SRR EE(H %)= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 31.65
g L+ THEEI = Int(((150-0)/2)/10.0)+1=8
F T K= 395.6*8/100=31.65 M
#4 SHE - R SMEREE(H )= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 23.74
g h R 5 28= Int(((150-0)/2)/15.0)+1=6
rh R K= 395.6*6/100=23.74 M
#4 SMER-RE MR B (B R)= (99.95077+99.95077)*2-8*4+2*13.89=395.6 | 0.00
g (Int(0/10))*395.6/100=0.00 M
CHEER-KTR,E XOKFE)ERE(HHAE)= (99.95077-2*[{R & B14+2*[135 R &
<2 B $4]13.9)*4=478.9
Y(EE)ARE(HE)= (99.95077-2[{R#B)14+2*[135 R &
$1]13.9)*2=239.5
#4 BHh- LT #4 T i%EE= Int(((150-0)/2)/10.0)+1=8 57.5
< T R= (478.9+239.5)*8/100=57.5 M
#4 B& 7 -th R b #4Hh R E R= Int(((150-0)/2)/15.0)+1=6 43.1
<7 th i K= (478.9+239.5)*6/100=43.1 M
#4 BH-RERE HARZ BB R =(478.9+239.5)*Int(0/10)/100= 0.00 M 0.0
BERTE:

BT R)X-#X (2)X-#X
ABAEEF:($H1)18-#8 (FH2)X-#X
B85 (1)4H:8-T*18%
BhRETE:
TR [E BB K]411.3*150/10000=6.17 M2
AR E AR RO RR:
LL_E/NET:0.00 M2
FERRE AR R A0 B
LAk /1NET:0.0000 M2
NS E AR R A0 B
EEE 1 (FEorEZE):=20%(150-0)/10000=0.30
EEE2(F S orEZe):=15%(150-0)/10000=0.23
EEE3(F EorEZE):=20%(150-0)/10000=0.30

Ll _E/NET:0.83 M2
$§Hl%rfh§+:6.17-[&1?;@3??%]o.oo-[ffimiﬁ?&]o.oo-[ffi % 32 $£]0.83=5.34 M2
RCEH&E:

(& Fa4%: 2 E#5]9990.2*150/1000000=1.499 M3
-------------- FIE U1 W1 SE—
st EER:

#4=155.956 M (155.956 M*0.994/1000= 0.1550 T)
#8=27.000 M (27.000 M*3.980/1000= 0.1075 T)
MER/INET =0.2625 T
BRR/NVET(E) = 5.34 M2
JREE /NG = 1.499 M3

PNA21-01-#£f8: P1, #HX5%: C34, B3k 33 [X6:-90,Y15:-215] R=F: 90 cm * 80 cm , #&: 360.0 cm

) EH+90 R E

#8 r IH(E1E-LER (360+0.00)*16/100 57.60
TE (1[I H=0])
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SME - £ T i SV R E (A R2)= (90+80)*2-8*4+2*13.89=335.8 53.72
L+ THEE24= Int(((360-60)/2)/10.0)+1=16
L+ TFiE#ER= 335.8%16/100=53.72 M

#4

S48 55 o YL R FE (5 7)= (90+80)*2-8*4+2+13.89=335.8 36.94
o R B B= Int(((360-60)/2)/15.0)+1=11
R4 R = 335.811/100=36.94 M

#4

(Int(60/10))*335.8/100=20.15 M

i%ﬁéiﬁﬁ-zka‘uﬂ,ﬁ XOKFE)ERE(HHAE)= (90-2*[{R#EB]4+2*[135E & $4]13.9)
BE *2=219.6
Y(EE)AREHRE)= (80-2[REE4+2*[135EE$7]13.9)
*2=199.6

BE- L T #4 &+ T i%E %= Int(((360-60)/2)/10.0)+1=16 67.1
L T8 E= (219.6+199.6)*16/100=67.1 M

#4

8-l #4rh R B EE= Int(((360-60)/2)/15.0)+1=11 46.1
R I R = (219.6+199.6)*11/100=46.1 M

#4

BE-BEE HARF EME=(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1

#4 g o\ A -BR SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 20.15
#4

EESIE
AT GR)XHX (H2)X-#X
AR (FE1)16-#8 ($H2)X-#X
RS (1)MH:8-T 16X
BhRET &
F48HR:(90+80)*2*360/10000=12.24 M2
PR E AR MO RR:
%5:1i8:-(G1) 35*60/10000=0.21
25:2i8:-(B2) 35*50/10000=0.18
25:3i8:-(G2) 35*60/10000=0.21
Ll _E/VET:0.60 M2
FE MBI AR IR OB
25:138:30.00*16/10000=0.0480
25:2i8:40.00*16/10000=0.0640
25:338:30.00*16/10000=0.0480
25:438:90.00*16/10000=0.1440
LL_E/VET:0.3040 M2
RS E AR R O PR
B 1(FRE)-:B2=15%(360-50)/10000=0.47
B 2(FR K )-:G1=15%(360-60)/10000=0.45
B 3(FRIE )-:G2=15%(360-60)/10000=0.45
LLE/NET1.37 M2
ﬁm%rfg?m2.24-[*11%’&?&]o.eo-ﬁzﬂﬁﬁﬁ]o.30-[&;1%3??%]1 .37=9.98 M2
RCEHE:
90*80*360/1000000= 2.592 M3

At EHER:
#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=57.600 M (57.600 M*3.980/1000= 0.2292 T)
MAR/INET = 04769 T
BAR/NVET(E) = 9.98 M2
SRR /NET = 2.592 M3

PNA21-01-#£[&: P1 , ¥ 18F: C33, fIEFF5E: 35 [X7:-15,Y13:+225] R~F: 90 cm * 80 cm , 4 &: 360.0 cm

#8 TH(FE1HE-EEE (360+0.00)*16/100 57.60
r HE)- £+ 00FE 2 38
TE (1[I #E=0])
#4 SVMERR- £ T SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 53.72
@ L+ THEEIE= Int(((360-60)/2)/10.0)+1=16
+ FHE# K= 335.816/100=53.72 M
#4 SME - R SMERE(H )= (90+80)*2-8*4+2*13.89=335.8 36.94
@ o SRR 2= Int(((360-60)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
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#4 SRR SR ()= (90+80)*2-8*4+2*13.89=335.8 20.15
@ (Int(60/10))*335.8/100=20.15 M
BmEBERR-KER,E XOKFE) R E(HHAE)= (90-2*[{R#B]4+2*[135E & $7]13.9)
< B *2=219.6 )
Y(BE)EERE(H )= (80-2* IR HEB4+2*[1355 E£4]13.9)
*2=199.6
#4 B Tk #4 & T 85 E 2= Int(((360-60)/2)/10.0)+1=16 67.1
<2 LT E= (219.6+199.6)*16/100=67.1 M
#4 B-rh R #4rth R IHE = Int(((360-60)/2)/15.0)+1=11 46.1
<7 R 48 £ = (219.6+199.6)*11/100=46.1 M
#4 BEH-BEE HAREEE=(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1
FEEHE

EBREEH(R1)XHX ($2)X-#X
ABAEE:(181)16-#8 (H2)X-#X
BIERE(1)ME:8-T*6

BhREHH:

F 1 hR:(90+80)*2*360/10000=12.24 M2

HEEERAR MO

%:158:-(G1) 35*60/10000=0.21
%:25%:-(B1) 35*50/10000=0.18
LLE/NVET:0.39 M2

FERRE AR M 0 PR

%:15%:80.00*16/10000=0.1280
%:25%:90.00*16/10000=0.1440
%:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.3840 M2

RSB R AR M O PR

1 (FRE)-:B1=15*(360-50)/10000=0.47
B 2(FR K )-:G1=15%(360-60)/10000=0.45
B 3(ME )-:CS=15*(150-16)/10000=0.20
LLE/NER1.12 M2
AR AEET:12.24-[FE R 3 $£]0.39-[#F iR 32 $10.38- [ 15 38 $%]1.12=10.36 M2

RCEH&E:

90*80*360/1000000= 2.592 M3

Mt HAER:

#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=57.600 M (57.600 M*3.980/1000= 0.2292 T)

MAR/NET = 04769 T

BAR/INET(E) = 10.36 M2

B/ =2.592 M3

PNA21-01-#£[&: P1, ¥ 1X8F: C32, fIEFF5E: 34 [X6:-90,Y16:-98] R~F:90 cm * 80 cm , & 360.0 cm

#8 EHA(EE- L EE (360+0.00)*16/100 57.60
r HE)- 3 5+ 00 R 4 88
TE(fEHE[EE=0])
#4 SV fR- - T iR S\E R B (HT4)= (90+80)*2-8*4+2*13.89=335.8 53.72
@ TR S= Int(((360-60)/2)/10.0)+1=16
T K= 335.8*16/100=53.72 M
#4 VAS il RaE S S\E R B (HT5)= (90+80)*2-8*4+2*13.89=335.8 36.94
@ rh SR 5 B B8= Int(((360-60)/2)/15.0)+1=11
R iR R = 335.8*11/100=36.94 M
#4 s\ f-BRE S\E R EE(HT5)= (90+80)*2-8*4+2*13.89=335.8 20.15
D (Int(60/10))*335.8/100=20.15 M
BHEHR-KFERE | XOKTF)RREGRHE)= (90-2*[REE]4+2*[135E E$7]13.9)
<7 e *2=219.6 ]
Y(EE)ERE(H )= (80-2*[{FHEB14+2*[135F € 45]13.9)
*2=199.6
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#4 B5- £ Tin #4 + T i#EB= Int(((360-60)/2)/10.0)+1=16 67.1
</ £ TixiER= (219.6+199.6)*16/100=67.1 M
#4 BE-hRim #4rh R B E= Int(((360-60)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (219.6+199.6)*11/100=46.1 M
#4 BH-BERE HAR B EHE R =(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1
fEEsTE:

BT (FR1)XHX (#2)X-#X
KRBT (H1)16-#8 (FH2)X-#X
HEIEIRE(1)4E:8-T 16X

BhREHH:

F 1 hfR:(90+80)*2*360/10000=12.24 M2

HEEERAR MO

%:158:-(G2) 35*60/10000=0.21
%:25%:-(B1) 35*50/10000=0.18
LLE/VET:0.39 M2

HEMRE AR R 0 BR:

%:15%:30.00*16/10000=0.0480
%:25%:40.00*16/10000=0.0640
%:35%:80.00*16/10000=0.1280
%:45%:90.00*16/10000=0.1440
LLE/VET:0.3840 M2

RS E R AR MR O PR

B 1 (BRI )-:G2=15%(360-60)/10000=0.45
B2 (MK )-:CS=15*(360-16)/10000=0.52
LLE/NEF:0.97 M2
AR AEET:12.24-[FE R 3 $£]0.39-[#F iR 32 $10.38- [ 15 38 $%]0.97=10.51 M2

RCEH&E:

90*80*360/1000000= 2.592 M3

Mt HAER:

#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=57.600 M (57.600 M*3.980/1000= 0.2292 T)

MAR/NET = 04769 T

BAR/NVET(E) = 10.51 M2

BB/ = 2.592 M3

PNA21-01-#£[&: P1 , ¥ 8% C34, IEFF5E: 36 [X7:-15,Y14:+245] R~F: 90 cm * 80 cm , £ 5&: 360.0 cm

hRiGERER = (219.6+199.6)*11/100=46.1 M

#8 TH(FE1HE-EEE (360+0.00)*16/100 57.60
r H): 3 5+ 00 R 4 S84
TE(fEHE[EE=0])
#4 SVERR- £ T iR h\E R B ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g L+ THEBIE= Int(((360-60)/2)/10.0)+1=16
I FHE# K= 335.816/100=53.72 M
#4 SMERR-h R SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
g o SRR E8= Int(((360-60)/2)/15.0)+1=11
th R fERE K= 335.8*11/100=36.94 M
#4 S\ ERR- R SRR B ()= (90+80)*2-8*4+2*13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
BHERRE-KFER,E | XOKF)AEEFRIE)= (90-2 [{RERE]4+2*135E E£]13.9)
</ Em[ *2=219.6 .
Y(EE)EREE(HB)= (80-2*[{R#[B14+2*[135FE & £4]13.9)
*2=199.6
#4 BA5-E T % #4 T iRBE= Int(((360-60)/2)/10.0)+1=16 67.1
</ ETin#ER= (219.6+199.6)*16/100=67.1 M
#4 BE-pRin #4rh IR EIEE= Int(((360-60)/2)/15.0)+1=11 46.1
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#4 BE-REE

HARRZ R R=(219.6+199.6)*Int(60/10)/100= 25.15 M

251

BERGE:
EEEEEHEE1)X#X ($H2)X-#X
AREHFER:(JE1)16-#8 (FH2)X-#X
EERRE(1)#H:8-T16X
BRRETE:

F 1% hR:(90+80)*2*360/10000=12.24 M2

HEEERAR MO
%:158:-(G1) 35*60/10000=0.21
%:25%:-(G2) 35*60/10000=0.21
%:35%:-(B2) 35*50/10000=0.18
LLE/VET:0.60 M2

HEMRE AR M 0 PR:
%:15%:30.00*16/10000=0.0480
%5:25%:90.00*16/10000=0.1440
%5:35%:30.00*16/10000=0.0480
%:45%:40.00*16/10000=0.0640
LLE/VET:0.3040 M2

HEAS R AR M O PR

E RS 1(BE)-:G1=15%(360-60)/10000=0.45
EEE2(BE)-:G2=15%(360-60)/10000=0.45

LLE/VE:0.90 M2

AR AEET:12.24-[FE R 3 $£]0.60-[#F i 32 $10.30- [ #5838 $%]0.90=10.44 M2

RCEHE&E:
90*80*360/1000000= 2.592 M3

Mt HiER:

#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=57.600 M (57.600 M*3.980/1000= 0.2292 T)

$MAR/INET = 04769 T
BAR/INET(E) = 10.44 M2
iR /NET = 2.592 M3

PNA21-01-#8[&: P1 , ¥ 1X8F: C35, LB 5% 37 [X7:-15,Y16:-135] R~: 90 cm * 80 cm , & 360.0 cm

#8 TH(EE-EEE (360+0.00)*16/100 57.60
r HE) 1 5+ O0RE 2 48
TE (1[I HE=0])
#4 SVEfR- L T iR h\E R B ()= (90+80)*2-8*4+2*13.89=335.8 53.72
g T HEBIE= Int(((360-60)/2)/10.0)+1=16
I T K= 335.816/100=53.72 M
#4 SME - R SRR EE ()= (90+80)*2-8*4+2*13.89=335.8 36.94
g th G 28= Int(((360-60)/2)/15.0)+1=11
th R fEHE K= 335.8*11/100=36.94 M
#4 SME - HMERE(H )= (90+80)*2-8*4+2*13.89=335.8 20.15
g (Int(60/10))*335.8/100=20.15 M
BHEBEHER-KTER,E | XOKE)AEEGRIE)= (90-2*[{REE]14+2*[135E & $7]13.9)
<2 (1G] *2=219.6 )
Y(EE)EREE(HB)= (80-2*[{R#[B14+2*[135E & £4]13.9)
*2=199.6
#4 BA5- £ T % #4 T iRB 8= Int(((360-60)/2)/10.0)+1=16 67.1
</ E TR R= (219.6+199.6)*16/100=67.1 M
#4 BE-p R #4rh R IHEIEE= Int(((360-60)/2)/15.0)+1=11 46.1
<2 th iR = (219.6+199.6)*11/100=46.1 M
#4 Em-RERE HAR B =48 K =(219.6+199.6)*Int(60/10)/100= 25.15 M 25.1

BERTE:
TR GEXHX (#12)X-#X
ABHIH:(HE1)16-#8 (FH2)X-#X
BHERE(1)MH:8-T*163

AR E:
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F 42 HR:(90+80)*2*360/10000=12.24 M2

RSB RE R IORR:
%:15:8:-(G2) 35*60/10000=0.21
%:2;:8:-(B1) 35*50/10000=0.18
LLE/VET:0.39 M2

FERRE IR IR IR
%:13i%:30.00%16/10000=0.0480
%:2i%:90.00%16/10000=0.1440
%:3i%:80.00%16/10000=0.1280
%:4i%:40.00%16/10000=0.0640
LL_E/VEH:0.3840 M2

NS B AR IO PR

EHEIE 1 (FRIE)-:G2=15%(360-60)/10000=0.45
E 2R E)-:CS=15*(360-16)/10000=0.52
E 3R E)-:CS=15*(360-16)/10000=0.52

LI E/NEH:1.48 M2

FERR AR ET:12.24-[FE R 3T $£]0.39-[#F hir 32 $]0. 38-[#1 #& 32 $%]1.48=9.99 M2

RCEHE:
90*80*360/1000000= 2.592 M3

Mt EAER:

#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=57.600 M (57.600 M*3.980/1000= 0.2292 T)

AfR/INET = 04769 T
BAR/VEH(E) = 9.99 M2
R /NET = 2.592 M3

PNA21-01-#&/8: P1, # 5% C31, LB F5%: 32 [X6:-95,Y13:+220] R~f: 80 cm * 90 cm , 45 360.0 cm

#8 TH(EE- L EE (360+0.00)*16/100 57.60
[_ H): 3 5+ 00 R i S5
TE (B[ E=0])
#4 SMER- L T i SR EE(H )= (80+90)*2-8*4+2*13.89=335.8 53.72
@ T = Int(((360-60)/2)/10.0)+1=16
T K= 335.816/100=53.72 M
#4 HME - R 5\ R E(FHH2)= (80+90)*2-8*4+2*13.89=335.8 36.94
@ rh J 4 2k= Int(((360-60)/2)/15.0)+1=11
th e fE e K= 335.8*11/100=36.94 M
#4 SMER-RE 5\ RE ()= (80+90)*2-8*4+2*13.89=335.8 20.15
@ (Int(60/10))*335.8/100=20.15 M
BHEFER-KTERE | XOKFE)MEEHGRIE)= (80-2*[{RERB]14+2*[135E E4£7]13.9)
<7 [EE *2=199.6 ]
Y(EE)AREHRE)= (90-2[REE14+2*[135EE$5]13.9)
*2=219.6
#4 B5- £ T #4_F TR E 2= Int(((360-60)/2)/10.0)+1=16 67.1
< F i R= (199.6+219.6)*16/100=67.1 M
#4 BE-PRim #4rh R IR B EL= Int(((360-60)/2)/15.0)+1=11 46.1
<7 th JifkiE R = (199.6+219.6)*11/100=46.1 M
#4 BH-REE HARZ [EHE R =(199.6+219.6)*Int(60/10)/100= 25.15 M 25.1

BERHE:
BRI GRNXH#X (FB2)X-#X
ABHEIH:(HE1)16-#8 (FH2)X-#X
EERE(1)M:8-T16%

BIRETE:
F#EHR:(80+90)*2*360/10000=12.24 M2
FEARE AR MO RR:

%:158:-(B1) 35*50/10000=0.18
%:2:8:-(G1) 35*60/10000=0.21
L E/MVEE:0.39 M2
FERRE AR M A0 B
%:1i%:90.00%16/10000=0.1440
%:2i%:30.00%16/10000=0.0480
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%:35%:40.00"16/10000=0.0640
%:4i%£:80.00*16/10000=0.1280
Ll E/VEH:0.3840 M2
SRR
E RS 1 (BRE)-:B1=15%(360-50)/10000=0.47
E RS2 (B E)-:G1=15%(360-60)/10000=0.45
EREEE:3(FE SorE ZE):=15%(150-0)/10000=0.23
LLE/NET:1.14 M2
$§Hlxi+{h§:§+:12.24-[&*%‘1&?%]0.39-[7&#&§#§]0.38-[Eﬂ%§1¢%}1 .14=10.33 M2
RCEtE&E:
80*90%360/1000000= 2.592 M3

et EHER:
#4=249.119 M (249.119 M*0.994/1000= 0.2476 T)
#8=57.600 M (57.600 M*3.980/1000= 0.2292 T)
$ARR/INET = 04769 T
BAR/NEH(E) = 10.33 M2
R /NET = 2.592 M3
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